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33.0%

500

33.0%
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B/C=

1.30

14

33
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-5.0m
-3.0m

L=40.0m
L=85.0m
L=24.0m
L=31.3m

L=90.0m
L=60.0m

L=315.0m

A=3,243m?

H6

1,176

77.4%

L=40.0m

L=24.0m

L=31.3m

1,176

77.4%

-5.0m
L=90.0m
-3.0m
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L=254.0m
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H22

1.0

1291
1,176

B/C=

1.16

H22
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L=70m
L=65m
L=120m
-2.5m L=40m
-2.0m L=30m
-4.0m L=80m
L=50m

-4.0m A=301
-2.5m A=190

L=69m

A=1,589

H6

1,521

96.0%

1,521

96.0%

L=70m
L=45m
L=120m
-2.5m L=40m
-2.0m L=30m
-4.0m L=80m
L=50m

-4.0m A=301
-2.5m A=190

L=69m

A=1,589

2,141
1521

B/C=

1.20

H20

96%
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-2.5m

L=25m
L=56m

L=39.4m

( 3,482

L=200m

1,641

86.0%

H6

1,641

86.0%

H19

L=25m
L=56m

L=39.4m

-2.5m (

3,482

1,800
1,641

B/C=

1.04

H19

86%
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-30 A=30,000 -20 A=4840
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-20 L=80 A=15,300
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A=1,660
L=20
V=1200 3 1
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